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e  Please check that this question paper contains 23 printed pages.

o Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 42 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
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(vi)
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(viii)
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The question paper comprises of two Sections, A and B. You are fo
attempt both the sections.

All questions are compulsory.

All questions of Section A and all questzons of Section B are to be
attempted separately.

Questions number 1 to 3 in Section A are one- mark questions. These are to
be answered in one word or one sentence.

Questions number 4 to 7 in Section A are two-mark questions. These are to
be answered in about 30 words each.

Questions number 8 to 19 in Section A are three-mark questions. These

are to be answered in abouzﬁ 50 words éach

Questions number 20 to 24 in Section A are five-mark questions. These are
to be answered in about 70 words each.

‘Qué‘stions number 25 to 42 in Section B are multiple choice questions

based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.
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SECTION A

’W%?ﬂ:ﬁwstﬁsﬂqgldaﬁﬁwmaﬁﬁﬁﬁaquﬂ
At | ‘

Write the fOrmula that determines the maximum number of electrons
that a shell of an atom can accommodate '

| Ww%%ﬁ?a@“ﬁ@ﬁﬁ%ﬁ Toh th’ﬁ%l%ﬂlm °b|d17f§6v-6H TN
@W%@émﬁm? |

Why do mice, whose tails were removed surgically for generatlons
continue to produce mice with tails ?

w2 fdl % i & Scm ey guen w1 ek HINY |

‘State the environmental problem posed by construction of large dams.

- dfes 9 g Iooa Hafd A fafear giieR BH 6 Q) R % Secre
Bl | ‘ ‘ |
Mention two reaAsons for the appearance of Variatiens among the progeny
formed by sexual reproduction.

et et o 2 Seus ST “+1/47 ¥ | 3T T 1 RRe S5 () g9
% TR, (i) T G S Tl ol i feriaredt o1 Sewi@ HIT |
The magnification produced by a spherical mirror is “+1/4”. Analysing

this value, state (i) the type of the spherical mirror it is, (11) three
characteristics of the image formed by the mirror.

Sa-fafaem” % ?ﬁﬁmﬁ'@?ﬁﬁm | 99 T I vnom% TR0 S § ol
1 e SR | |
State the meaning of “biodiveréity”. List two advantages of conserving
forests and wildlife.
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- Government of India is imposing ban on the use of polythene bags for
shopping. List four advantages of using cloth or jute bags over polythene

bags.

YehicHe Hg 91 8 ? Ueshlgiall, Ufcsersel, higH! qe seiediers ol 1
IUTRIA TehITcHsh &g 1 9 fafau |

What are functional groups ? Write the formula of the functional group

‘present in alcohols, aldehydes, ketones and carboxylic acids.
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el ATUTsha shi Tishan 1 sImeaT & fore Tt aefisetor off Afve |

Two carbon compounds P and Q have the molecular formula C3Hg and

C3Hg respectively. Which one of the two is most likely to show addition

reaction ? Justify your answer. Also give the chemical equation to explain

_ the process of addition reaction in this case.
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The following table shows the posmon of six elements A B,C,D,E, and
~ Fin the modern per10d1c table :

Group |

. 1 2 3tol12 | 13 14 15 16 17 18
Perio : ,

2 | A | o B -l

3 | : D E | ’ : F

~Using the above fable, answer the following questions :
(@)  Name the element which forms only covalent compounds.
(b)  Name the element which is a metal with valency 3.
(c) Name the element which is a non-metal with valency 3.
(d)  Outof D and E, which one is’bigger in size and why ?
(e) Write the common name for the family of elements C and F.
11. T A (T TEI 20) 9 o7 B (Y] TN 17) % oA R
| WQIWAHWWB%W@@WW?@Wlai-irlcuvidcqlq
1 gt~ foirg TerT I ot s a1l 1T i T H1 SeorE Ff | 3

‘Write the electronic configuration of element A (At. No. 20) and element

B (At. No. 17). State the formula of the compound formed when element
A combines with element B. Draw the. electron-dot structure of the:

product and state the nature of the bond formed.

12. Hldqqudéﬁ%ﬁ%ﬁquﬁﬁﬁm%aWﬁ@W: 3
() ITUSRE | :
Gi)  HEIRER =@
(i)

List two functions of each one of the following parts of the human female
reproductive system :

(i) Ovaries
(ii)  Fallopian tubes
(i11) Uterus

31/2/2 | 5 ~ PTO.




13. nﬁw@mﬁw%@aﬁaﬁsﬁﬁmlmﬁﬁzﬁﬁmﬁm
e

List four methods to avoid pregnancy Why should these methods be
adopted ? '

14 (@) wHRE, de, stems T e § AR ¥ | SR 3 g e
W%sﬂ‘sﬁa‘@ﬁ?ﬂﬁﬁﬁﬁ%@ﬁ%wauwHﬁ\s!eh{ma?ﬁﬁ
HL R |

(b) aﬁéwﬁmsﬁ%ﬁsaﬁw%ﬁﬁﬁwmwmégm
g1

(@) Planaria, insects, octopus and vertebrates possess eyes State,
giving reason, why we cannot group these ammals together on the
basis of the eyes that they possess

(b)  Give an evidence to prove that birds have evolved from reptiles.

15. i IgHe o forg seeerd ?ﬁ:{ YHE HIhi shi =R SIS, e BTF%EB 1 JUH
T |

List three main factors responsible for speciation and describe each one of
them. ‘

16. 5 cm T H15 for 18cmﬁwaﬁ%f%m3ﬂaé?%g@3m%m‘aﬁ |
N 12cmaﬁq‘{ﬁ\%ﬂ% | 9 T HT IT FTh S S g 6
feurfa, wmest aen yfe Pt i |
A5 cm tall object is placed perpendicular to the principal axis of a convex

lens of focal length 18 em at a distance of 12 em from it. Use lens formula
to determine the position, size and nature of the image formed.

31/2/2 , 6
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O % TR 1 Jeei@ ST | Tedeh TR0 H g9 gl S IwErT fohT ST AT
g & wH TR IR | | ' 3

State the types of spherical mirrors used for (1) Vehiclés headlights, and
(ii) rear view mirrors in vehicles. List two reasons to justify the use of

 these mirrors in each case.

18, % fiew gm0 ¥ v REw gui % R s @i | auil
¥ 3 il W gfieR B9 9@ @ T AMiehd HINT | Sead dvnci\ﬁﬁfélﬁq?
Fuit <t forol firem B Ty oo ==t et @ 2 3

Draw a dlagram to show dlspersmn of white light by a glass prism. Label
the colours that appear at the two ends of the colour band. State the

reason why different coloured rays deviate differently in the prism.

19. W?ﬁ?{m—%ﬁdﬁmﬁ@mﬁ%mmﬁ%ﬁmﬁwﬁawdv .
e | I o e oft fafaw | 3

List three environment-friendly practices which you would like to form a

part of your daily habit, giving justification for each.

20. (a) W F T w1 qeh ey o A A R w0 A e
F1 Tt w1 § | saren hife 7 98 38 % 1 5T TR w8 |

: b) maaﬁ%am—g@mmmm«
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T 2, @ g &fior B wreh @ 3fit SR ofen | meRa 7 | A0S e e
T A % oS TEd W Q¥ WS Avsd o whwenfua (31ufd
TERIRE) S, O 36 TR h iya h S R s wswar g 1 g gk
Ty 39 2 % R @it # IRE FE % Fo U GIET | 5
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(a)

21,

22,
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(b)

(©)

()
(b)
(a)

(b)

(a)

(b)

(c)

List the parts of human eye that control the amount of hght

entering into 1t Explam how.
Write the function of retina in human eye.

If due to some disease or injury the cornea of an eye is clouded,
then the vision is impaired and the person may become blind. This
type of blindness mayﬂbe cured by replacing the defective cornea
v;ith the cornea of the donated eye. Suggest some measures for

motivating people to donate their eyes after death.

T TR0 STRE 1 e @ ;lcblﬂ F FEaT F dd FT 0w
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() Fata, (ii)wﬁma%amma?«ﬁq l

With the help of a ray dlagram state the meaning of refraction of
hght State Snell’s law of refraction of light and also express it

mathematlcally.

The refractive index of water with respect toy'vacuum is 4/3 and
refractive index of vacuum with respect to glass is 2/3. If the speed
of light in glass is 2 x 108 ms !, find the speed of light in

(1) vacuum, (ji) water.
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23.

(c)

(a)

®)

24.
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(¢

(a)
b)

(c)

Give one example each of a unisexual and a bisexual flower.

How is the number of chromosomes of the parent cells maintained
in the cells of the offsprings of sexually reproducing organisms ?

Mention the changes the flower undergoes after fertilization.

Wwﬁ@mﬁmwwﬁﬁﬁmﬁﬁaml%?wwy
g |
W%ﬂﬁmemH% lwwﬁmmﬁ

T hAT ol Icdd °b|l\ﬂ\ !

qTd O Sl ﬁi\%‘aﬁ 2 3R T ? $ch AT I 3@ HINT |
Why can fertilization occur only once in a month in a human

female ? Explain.

Prenatal sex determinaﬁon has been prohibited by law. State the
necessity of enforcement of this law.

Where are human testes located and why ? State their functions.

S VTS S WISTH TEGIA HIee % Y ARAMHAT HLdl 7 @1 Th Ao
X F Y HE Y s R 1 X9 Y % a9 fafge | e W@ Sramram
i HIRTT qo TTH ST B I ITFWT FHT TG G 78 Tig HIfv B
ﬁ%ﬂﬁ‘éﬁﬁﬁ?ﬁ(ﬂ‘ﬁ%ﬁwmﬁm qu% | T aﬁ\ﬂWe’ﬁ%ﬁ
T TR o fafe |

When ethanoic acid reacts with sodium hydrogen carbonate a salt X is
formed along with a gas Y. Name X and Y. Describe an activity and draw

the diagram of the apparatus used to prove that the gas Y is one which

you have named. Also write the chemical equation for the reactions

involved.

9 o P.T.0.
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SECTION B

25. mem@aﬁwmﬁqwméﬂmﬁmwﬁﬁmm

T IR BT il e ¥ R, 9 o v e fou o e
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3 = 1 9E A ©

(A ILIOLIV,LV

(B) ILIV,IILLV

(©) ILILLIV,V

(D) ILILIILIV,V :

To determme the focal length of given convex lens by obtammg a sharp
image of a well lit distant object on a screen, a student generally foHows v
the following steps which are not in proper sequence.

I Adjust the position of the lens to obtain a sharp image.
11 Select a well lit distant object.

III.  Hold the lens between the object and the screen.

IV. Place a screen opposite to the object on the lab table.

V. Measure the distance between the lens and the screen.

The correct sequence of these steps is
A) ILIIIV, I,V ;'
B) ILIV,IILT,V
(©) ILOLLIV,V
D) ILLILIV,V

- 31/2/2 . ' : 10




26.

27.

- 3172712

et BT 3 TEaa g 1 AN ek Rashl H1 B w w18 W B
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(A)  UE qYT U i Tore shl TR G 91T

(B) W e gdv 1 e ¥ g HEEAT =R
(C) UG %I TV € B T WHMT =Y
(D) 2T 1 S <1 R Mgl FEHHI =T

- A student obtained a sharp image of grills of a window on a white screen

using a concave mirror. His teacher remarked that for getting better
value of focal length of the mirror he should focus a well let distant object
(preferably the Sun) on the screen. What should the student do for this
purpose ? ,

(A)  Move the mirror and the screen towards the object

(B)  Move the mirror and the screen away from the object

(C)  Move the screen slightly away from the mirror

(D) Move the mirror slightly towards the screen

:ﬁ%ﬁqwaﬁ@%wawmq?ﬁﬁm |aﬁwmm%&ﬁ3ﬁaw‘é{ OF
Eﬁmﬁaﬁ fre & whifems <6 ol @ =0 3 R JhTST ToRTUT oTRE Eie

TR |

2F4 F, \/\)\l’
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Study the following ray diagram draWns by four students to locate the

position of the image fqrmed by a convex lens when the object is placed at
2F.

The correct ray diagram is that of student

@) I

(B) 1I
(C) 11
D) IV

12
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(A

31/2/2

(B)

©)

(D)

2 F,
293
394
495
295

Out of the five incident rays shown in the following figure, find the two
rays that are not obeying the laws of refraction and as such cannot be

used for locating the position of imagé formed by a convex lens.

A)
(B)
©
(D)

2 and 3

"3and 4

4 and 5

2 and 5

13
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fpan o gt SgER eMueE v 4, sEd H0 - g File wiw e sifee

fep
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(A) qd9ir
(B) rddle
(C) iqd¥ule
D) ir ddle .

A student traces the path of a ray of light through a rectangular glass
slab and marks the angle of incidence 7, angle of refraction r and angle of
- emergence e as shown : :

The angles not correctly marked are

(A)  fandr
(B) rande
(C) iande

(D) i, rande

31212 | 14
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30.
| sTREd W 1 T FRAT | IR A S0 4, ST9eds S - e Fla s
o <51 T ) R T R | , g
A 30° 20° 29°
B 40° 30° 41°
C 500 36° 49°
D 60° 35° 61°
e 38 T ) S I o B 8
(A) Ad9B
(B) B9IC
© C3ID
(D) Ad9D
‘An experiment to trace the path of aray of light ‘th_rough a glass slab was
performed by four students A, B, C and D. They reported the following
measurements of angle of incidence i, angle of refraction r and angle of
emergence e. .
Student | Angle: | Angler Anglee
A 30° 20° 29°
B 40° 30° | 41°
C -50° 36° 49°
D 60° - 35° 61°
-~ Which two students have performed the exﬁeriment cautiously ?
(A) AandB
(B) BandC
(C) CandD
(D) AandD
15
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31.

(D)

R R Mo s w1 e B | = TR B A B, C9 D 7w feR
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C : . D
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w oA
B) B
€ C
D

Study the followmg diagrams in which the path of a ray of hght through
a glass prism as traced by four students A, B, C and D 18 shown :

e o

The student who has traced the path correctly is

A A
B) B
© C
(D) D

31/2/2
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32.

33.

317212

k ﬁa%ﬁmﬁmm%@m-ﬁquqay%d 3 o TaT e U=t

& e 1 wrfire (Suge) ot B =R

(A 2-=3cm
(B) 3-5cm
(C) 6-8cm

D) 10-15cm

For tracmg the path of a ray of light through a glass prism, the ideal
distance between the two pins is

S (A 2—-3cem
(B) 3-5cm
(€ 6-8cm

(D) 10-=15cm

ﬁ%ﬁqmma:ﬁﬁmawqd Th Tal HeH HT

I ufE % 9@ e i % vE T o # |

11 R % e e SR ol STy we S g |

1Ll % v qon el % T R 3T & |
V. ufl¥El % 99 Qe THIeS! o U@ THSTd o 8 |

(A) ISIHEE o

(B) 1191583

©) I19IIdE 8

(D) MHIFIVEE S

Study the following statements and select the correct choice :

I. Wings of:birds and wing of insects are analogous organs.

- IL Wings of birds and forelimb of horse are homologous organs.

III.  Wings of birds and wings of insects are modified forelimbs.
IV.  Wings of birds and wings of bats are homologous organs.

(A) TandlIlare correct

(B)  II and III are correct
(C) Iand III are correct
(D) III and IV are correct

17 P.T.O.
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- 35.
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A student wants to collect analogous organs for his project. Which one of
the following pairs would you suggest ?

(A)  Forelimbs of frog and forelimbs of bird
(B)  Thorn of bougainvillea and a tendril in cucurbits
(C)  Wings of an insect and wings of a bird

(D) Forehmbs of horse and human arm

rel B 3 fesiorsh qlﬂ%%%ﬁﬁﬂﬁﬁ&?ﬁ%%ﬂ@&ﬁ@
et | 35 3o fofis e =1 A, B, C 991 D g 3fhd oham B

ST YT o1 W@l AT A 0 YR B
(A) IR, HeAisht, SeTud, EIEIEIG

(B) I, AT, SSTevl, S0

(©) q\viig»{ L, SST9s, SSTTeo
(D) TSN, TIPL, SreTeer, e

A student draws the diagram of a dicot seed to show the dlfferent parts of
its embryo. He has marked its parts as A, B, C and D :




36.

The correct labelling of these parts respectively is’ :
(A) |
(B)
(©)
(D)

- Plumule, Radicle, Cotyledon, Seed coat

Plumule, Radicle, Seed coat, Cotyledon
Radicle, Plumule, Cotyledon, Seed coat
Radicle, Plumule, Seed coat, Cotyledon

fret T 1 Q) TS - w i % fraves Ao Twh fee § e B
€1 TS | 3Gk R A 3T YA TAES W hegeh! ohl G T T ! TSI

H F I FET | I FEEEE wge F1 genell 3= g § Jam

~ Tore e FefaRaa o sufefa % sar W Hl el & team )
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(A)

(B)

)

(D)

nwﬁwﬁﬁhaﬁmﬁam W@ﬁwﬁ@Wﬁmwﬁ
Th Heh

s & @ YUY hegeh, A IR T Th hrgeh a7 30 T o Q1

Hgh

eqtﬁa'rﬁ@ hrgeh, e ﬁﬁ hegeh T A H TF Hgoh
STftaT o fee iR TS F T g qo v g@ O%dl # #e

Wﬁ

A student was given two slides, one of the binary fission in Amoeba and
the other of budding in yeast. He was asked by his teacher to identify one
difference in the number of nuclei in each one of them. He observed the
slides carefully under high power of microscope and identified the two
slides on the basis of presence of ' A

(A)

(B)
©)

(D)

two nuclei in the centrally constricted Amoeba, one nucleus in the
yeast cell and one in the bud :

two distinct nuclei in Amoeba, one in yeast cell and twoinits bud
one nucleus in Amoeba, two in yeast and one in bud

single nucleus each in Amoeba and yeast cell and none in the
attached bud

19 ' P.T.O.
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B
P S e e

1 q&mﬁwa@ﬁ&mam@maﬁﬁmm%l
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'IV.\ wm%mﬁﬁqﬁwaﬁwwﬁaﬁél

i T D g
(A) 1,1, I
B ILILIV
(© LILIV
D) LILIV

After observing various slides of binary fission in Amoeba a student made
the following observations :

I. In this process a big cell and a small cell are formed.

II.  In this process two daughter cells are formed.

III. At the end of the process cytokinesis is completed.

IV. At the end of the procéss identity of the parental cell is lost.

" The correct observations are

A LILII

(B) I IIL IV

31/2/2

©) LIULIV
D)y LILIV

20
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While studying Saponiﬁcation reaction for the preparation of soap we
make certain observations. Select from the following the correct
observation about the reaction mixture and the type of reaction :

(A) The reaction mixture is acidic and the reaction is exothermic

(B) The reaction mixtﬁre is basic and the reaction is exothermic |

39.

(C) The reaction mixture is basic and the reaction is endothermic

(D) The reaction mixture is acidic and the reaction is endothermic
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A student has to prepare 20% aqueous solution of sodium hydr0x1de ,

solution for the study of saponification reaction. On opening the lid of the

" bottle of sodium hydroxide, he would observe that it is in the form of
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(A) fine white powder
(B)  white pellets/flakes
(C) small white beads

(D) colourless, transparent beads
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A student takes about 5 mlL distilled water in four test tubes marked P,
Q, R and S. He dissolves sodium chloride in P, potassium chloride in Q,
calcium chloride in R and magnesium chloride in S. After that he adds
equal amount of sdap solution in each test tube. On shaking these test
tubes he would observe a good amount of lather in the test tubes marked

(A) PandQ
(B) QandR
(C) RandS
(D) PandS
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When we add sodium hydrogen carbonate solution to acetic acid and
bring a burning splinter at the mouth of the test tube we observe that

(A)  the gas burns with explosion

(B)  the burning splinter extinguishes
(C)  the flame of the splinter is not affected -
(D) the splinter starts burning rapidly
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A student takes 5 mL acetic acid in test tube X and adds 3 mL distilled
water into it. In test tube Y, he takes 5 mL distilled water and adds 3 mL
acetic acid into it. After the mixtures settle down, he observes

(A)
(B)
(9]
(D)

colloid is formed in both test tubes
homogeneous mixture is fornied in both test tubes
colloid is formed in X and homogeneous mixture in Y

homogeneous mixture is formed in X and colloid in Y
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